/I$ produced during the reaction between
arbonate and acetic acid solution

Ao T gl gyl i G 08 g 0

) jasal

N)a.Q_CC‘.‘DS A A N30, =200 (g R J(J(%%

02
N2
H2

CO2

A
Hyo + C2 2




following is correct about to the reaction below?

falal JRill Al Zaaa 40N G fuadl

NH;(aq) + H,0() = NH,*(aq) + OH (aq)

bage A
considered as Arrhenius base

. R

(

ce
Sk

) J

et ) 358 NH; a3 A

considered as a Bronsted - Lowry acid

Gas = i paaa H,0 i @

cepts an electron pair from H.0

H,0 Oa Slip i) 5 Jeliedd NH; .C

cepts H* ion in the forward reaction

) el & H* Gpl Jiles H,0 LD




ich of the following substances ionize completely in
eous solutions producing hydronium ions H3O*?

Sl @iy Asilall Jullaall (A talad 0l A6 dlgall Ga (g

TH;07 apaig g
I. |Hel 2 S
Il. | HC;H10; = Wresd
. | H,S04 > S
IV. | HCIO = weads
A. land Il s 1| A
B. Il and Nl s i .B |
C. landIll sl @
D. I, lland iV IVslisl .D I




What is the acid ionization constant of the equation shown below? £alia) Al Alibaall plaanll (G Gl utl La

HNO,  +H,0, SH,0*  +NO,-

2(aq) 2= (aq) 2 (aq)

K. — (H30°]NoOz]
a [HNO2] 1

__ [HNOZ]
A [H30*][NO3] 2

_ [H30*](N03)
4 [HNO2][H30] 3

__ [HNDz][H20]

Ka = (1;0°1vo3] N



he following statements is correct about the
hown below?

falia) Je il Audly Ao 4l i jlad) (o1

CH3NH,(aq) + HZO(L"——.- CH3NH3*(aq) + OH (aq)

Wk, brge w ek 2

srey) C- A Sxrevy C-

Se CH;NH; is weak and the conjugate base OH" is strong

At OH 4dd pa) 325 g Adauas CH3NH, 5=l ._

Se CH;NH; is strong and the conjugate base OH is weak

dhai QN Akl ) slll) g 4 gd CH;NH, 31 B

n has lowest attraction for H* ion than has a
lle of CH;NH,

CH3NH, £ Ja Aslias baa JB1 H* (15 Lia il OH' O .C

uilibrium lies far to the right

sl ) 1ot Y 425 D




How many times increases the concentration
of hydrogen ions [H*] in the solution X than | (e X Jslaadl A [HY] Coas i) Ol a8 5 &3 5a a8

in the solution Y according to the figure Lolial aa ) cinaan Y J plaall
below?
KJslns ¥ _ -
solution X H'-rl,_,!-lu-::-,'llr \I‘:\b X -~ \e = \o<=
& 0

pH ] 1 2 E] 4 5 ] 7 8 9 10 1 12 13 14

<

pOH 14 13 12 n 1w § 8§ 7 & S 4 3 2 1 0

>

A. 2 times (CS2) 2 .A
B. 10 times =l 10 .B
C. 100 times ?34 100 .@
D. 1000 times 22 1000 .D




the K, value of 0.0091 M solution of 0.0091 M 23S 5 HF b sl g jagdl paan Jglaal K, At La

oric acid HF with a pH =2.68?

‘pH=2.68

_2.€% —
GRS S HF(aq) = H™(aq) + F~(aq)
R <
(2.&*“5—3)1 i
Ro > — av—z.aAx\a> K,=7.6 X 1075
= 6.3 x\e’ Ka=6.3 x 107#

K;=9.9 %X 1073

Ka=4.8x10%




1is the correct arrangement according to
JH values of the solutions (X), (Y), and (£)
| have the following characteristic?

3(Y) 5 (X) Jdaall pOH 4ad G muavall saeballl cud ) L
? AUl Gailaddl Cid (2)

(X):pH = 10.5 pM =32

(Y): [H*] = 10712

PU_H 2

Z): [OH"] = 10°  pett =7

est) [Y) - [:X} —* [z){higheﬂ}

b (Z) « (X) « (V) @ @

est) (X) = (Y) = (Z)mighest)

) (Z) « (Y) « (X) (@) .B

est) (Z) = (X) = (Y) (highest)

) (Y) « (X) « (Z) (@ .C

est) (X) = (Z) = (Y)nighest)

s (¥) « (Z) « (X) @ .D




t is the molarity of sulfuric acid H2SO,
tion if 68.4 mL of 0.333 M NaOH solution is Cra 68.4 mL a3 13) HyS0, i puSl) aaa Jglaa &y ¥ ga La
led to neutralize 49.0 mL of the acid solution? | ¢ aaadl Jglas 0 49.0 mL Adaal 0.333 M NaOH Jslaws

H,SO4(aq) + 2NaOH(aq) = Na,SO; + 2 H,0(/)

\1—\2.3‘324 e '\)a‘o&r\

0.232 M 2

M = M 2 U2

——
o N+

My xU4q - 6¥1x633% = Moy = 0.232 W
N 2

\




Which of the following statements is correct according to the i) g<I) (] gann g 3 laal) Sadas gl Lad daaua 4l @l jal) ()

titration curve and indicator table shown below? 2oLl Aau gall
1374
12
11
10—
: Wi?h&
Sl e S 5 7 poIt DS, 7.00
Indicator range Indicator S
8.2-10 ol ud a
Phenolphthalein 3
6.0-7.6 Jyatigas il G5 ) .
Bromthymol blue o —

T
S 10 15 20 25 30 35 40 a5 S0

Volume of 0.100 M NaOH added (mL)
(ML) v 0.100 M NaOM s

O

A. The acid is weak, and Phenolphthalein is the suitable 90 Bl 038 (B dalidiu) asiial) CASIS) § chds el (A
indicator to use in this titration Ol ol

B. The acid is strong, and Bromothymol blue is the A0 9k B plaall 0dh (2 Anladind cauddal) walsll g ¢ 58 paaall @
suitable indicator to use in this titration J e ga g al

C. The acid is strong, and Phenolphthalein is the suitable 98 5l odh B Aaladind auddall 2Kl (5 58 Gaaadl C
indicator to use in this titration Ol gl

D. The acid is weak, and Bromothymol blue is the uJ) 9 B aall 0dh (A Aaladin) Caediall il 5 il asadl D
suitable indicator to use in this titration Joast ga 5l




